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Note:~ Answers may be written either in English or in Hindi; 

but the same medium should be used throughout the 

paper.·. 
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Attempt any Five questions. 

All questions carry equal marks. 
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1. ""The words of an enactment are to· be given their ordinary :and 

natural meaning, and if such meaning is clear and unambiguous, 

effect should be given to a provision of a statute.'' 

Explain the literal rule of interpretation with the hdp of case. 

Jaws . 
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2. What is the meaning of.thc maxir~~ ·ut res m~gis valeat quam 

pereat' ? Discuss the_ utility of this maxim in the interpretation 

of statutes with the. help of decided cases. 20 

I 3ll1p.J ~ llPl .'CfiBT ~ %' ~ qjJ q<:IT . ~ 
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3. What do you u11derstand by ·Heydon's Rule' ?. Elucidate 

with the help of decided cases. 20 

~~ cf; Fr:rt:r' "it ~ cp:ry 3lf~% ? fqf1~'€1d cfim 

ctft ~ "i\' fcmG ~ ~ I · 

4: ·'When two provisions operate on one field. both have to be 

allowed to have their play. unless such operation would result 

in patent inconsistency." 

Discuss the rule of Harmonious construction to be applied in 

such situations ·with reference to decided cases. · 20 
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5. . "We should avoid a construction which would reduce the 

legislation to futility and should rather accept the bolder. 

construction based on the view that parlian1ent would legislate 

only for the purpose of bringing about an effective result." 

Explain the Golden Rule of construction w.ith the help of 

decided cases. 
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6. Explain the maxim 'ex-visceribus actus' with the help of 

decided cases. 
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7. What are the internal and external aids to the construction of 

statutes ? Explain the relevancy of.: 

(a) _Preamble, and 

(h) Legislative History as aids of i1~terpretation. 20 

· ~ ~ a:r~ ~ ~ ~ am ~ ~~ll!Cfi 
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8. Write short notes on any two of the following : 2x 10=20 

(a) Ejusdem Generis 

(b) Noscitur a sociis 

(c) Inadvertent Omissions 

(d) Effect of repeal of a statute in the light of section 6 of 

the General Clauses Act, 1897. 
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